FR29FE BHERBERBAREROEERR—ER

(Bfz:M)
G EIEE X2 RES | WHENAEERE
Nol | IEEEERNEXESEEWHIE 19 13,382,000
No2 | BEMEZEERZESEE@HE 57| 113,415,000
No3 | EfESFEERLZXESEEHDE 0 0
Nod | EEMEFEXEZTEEMHIE 1 3,000,000
No4-2 | EMBFEXIESEEMME(RAEESRI] 0 0
No5 | REFEMERINEGZESTEEMME 2 1,600,000
No6 | BERE-ERAAVIBEMEREIESEEHDE 1 500,000
=11 80 | 131,897,000
Nol FEERRNEXEEZETMIE
&S Bl i FHBRERE
1 = /MK E I MR AR I EX 800,000
2 SR RFEF MR ERE A EE 661,000
3  |[BRMXZEFEHMERE B FEF 787,000
4 SR RFEF MR ERE =H 78 798,000
5 |[BRMXZEFEMERERE H#0O #DC 648,000
6 |BHMXFEZFIBMIERL il #= 648,000
7 SHMEEtLI— BE K#H 800,000
8 SHMEERtEI— Mg 420,000
9 SHMEEtLI— f2H Ei#d 590,000
10 [BHEEtVS— R - 600,000
11 | SHEEEI— BE IE 630,000
12 |&HF+FEkE = B 720,000
13 |[BfF+FHEk 25 BE 680,000
14  |SHF+FHEkk FEH DA 800,000
15  |[B5F+FHEk 2EE A 750,000
16 | E#&xfwEbe AR [GR 800,000
17 |[E#FHFwkE A FEz 700,000
18 |E I fmbetiE = ARt 2@ Tl 800,000
19 |ELmbeE S 5 5RkT e 750,000
=11 13,382,000




No2 EMEFEAXEZEEXRENE

&= & i FHBRERE
1 | BHXEEZEMEFR BiA RIF 4,750,000
2  |EHXZEZIMERERE FH B4E 1,586,000
3 = f K E 2R R JE e BA T 1,463,000
4 | BAXEFEFIHERE A0 FHH 1,700,000
5 |[BRMXZEFEHMHERE Btk BBt 3,794,000
6 |[BMXZFEFHMHERE F}E —BB 1,418,000
7 | BRHXZEEZEMERFR e EH 1,200,000
8 |[BHMXZFEZFHMERE TEIRE F08h 4,697,000
9 [BRMXZEFEHMERE BN NI 1,900,000
10 [BAMXZFEFHHERE 3 BH# 2,850,000
11 [BAMXZEFEMHERERE KA HAE 1,755,000
12 [BAMXZFEFEHHERERE R fE— 2,736,000
13 [BAXZEFEHMERERE HFE BER 1,900,000
14 | SRHXFEZIBMIERL IR B 450,000
15  [BAMXZEFEHMHERERE B B 4,452,000
16 [BAMXZFEFEHHERERE EBE Bt 2,375,000
17  |BHXFEZLEHE R MR B2 2,014,000
18 [BAMXZFEFHMHERE Ell TR 800,000
19 |BHMXZFEZFIMERG L I 4,389,000
20 |[SHXEFEEZHMHERER Wtk 5+ 1,200,000
21 = K E SR E im B HFIE K 4,464,000
22  |BHKFEZFIRHERR Ef = 4,750,000
23 |BHKEFEESFEMHERPE &5 R 2,398,000
24  |SHMXEFEEZHMHERBR W B 1,675,000
25 |BHEEREtEVI— =l 583,000
26 |BHMEERtS— KE BN 800,000
21 |BHEEREtEVI— AR RS 1,520,000
28 |BHEEtES— A = 1,900,000
29 |BHMEEtI— INEF EAB 648,000
0 |BHMEEtI— EE % 630,000
31 | EHMEEREtE2— SE R4E 2,850,000
32 |BHEEtI— 2R FA 875,000
33 |BHEEtEVSY— S8 K# 673,000
4 |BHMEEtI— FH XA 1,200,000
3B |EHEEt2— BERE 2 3,800,000
6 |BHMEERtI— K EF 1,222,000
37 |BHEEtE— Cic S RE Y 1,830,000
38 |BHEEtE— i) == N 2,280,000
39 |[BHMEERtEVI— ® g 1,590,000
40 [BEMEEtE3I— [RE &5 800,000
41 |[BHF+FER B ER 800,000
42  |SHF+FREE Hi HA 1,134,000
43 |BHF+FER B #B— 1,900,000
44 | SHFTFREE AH BT 1,080,000
45 |BHF+FER fl EE 1,900,000
46  [WEFxRAEMT JIIF FOBk 4,750,000
47 | aFHFEkE NI 5z 1,200,000
48  [IEFxAEME J\K # 4,750,000
49 | iEFHxEME TE &EH 1,520,000
50 |[iAFRmE A HEF 2,375,000
51  [HIKIAEIE Faf EX 220,000
52 |EILRIEEE S SRR 21U BE 1,436,000
53 |E:LmRFEEEE S A Twlr =l xTE 1,596,000
54 (V&% 1TAHATERE B EA 800,000
55 |I&%ZITAHATER FH 5h 2,375,000
56 W& %I+ AH AR KER #EN 869,000
57 |W&ZI1FAHAIERT JbhE E— 793,000
=11 113,415,000




No3 BMEFEERLIEFEERHENE

£#2 | BilE: HEES HBNRTERE
=11 0
Nod EMEEXEEZEEMUE
&= BilE: i FHBNRTERE
1 = f K E 2R b E JE e fiE 258 3,000,000
=1 3,000,000
No5 RERHMERNSXIEEXEEWHIS
B Fig HENRTERE
1 HERETRR 800,000
2 |BZITAHARR 800,000
=11 1,600,000
No6 FBEBA-ERXIVIBAMEREESEERDSE
B EE HERTEERE
1 500,000
&t 500,000




